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@ 1 like apples. lFU Y IFETE,
® You like apples. BERY Y IMFETT,
© He likes apples. WUy IDFETT,
\ S

QOOAT EXOEFTEL. | AT 2 AT 3ABOVThACHETE S, ZNENEKE GRS 55,
(1 BN -t NI |
BH [Fh2&TbD] - we. Kenand [ & &
@ 2 AFr: B [H7227-] — you
BE [Hal-2&LbD] — you. you and Ken 7z &
© 3T BH (A& H47zBS4 — he. she. it EZHICEER2 61550 (Ken. Yumi &)
BE (EHL7L] — they EChICBE»ZHN2HD
(my friends. Tom and Mary 7 &)

SED 3 AR - B TIREDY |

® He plays tennis. BEIF=—RELET,
© She has a racket. WUFST v MER>TVET,

OO3AH - BHOY TN 3AH - MO L &, AEL2ETITR. —REFADERI -sles]

J5. Iz [3AM - B - BED s] (7213380 s) &),
GED (EFEF 1AM -5 1 play tennis. (BMZF=2%LET.)

(XIS 3 AFR - BiE) _I-Ennis. (BRI F=2% LET,)

3 AR - B BhEelc s

€32 have 3 has LW I RIEHICT 2,

(EFEH 2 AR - B%) You have a racket. (H7%72&547 v baHE->TWET,)

(A 3AH - B%) She aracket. (&7 v b2H-TVWET.)

3 A - ﬁ?ﬁ(—f have |3 has IC
-+ -es DDIFF
ENORYL | -8 D)5 come — comes. run —runs. eat— eats. help — helps
FEREM s, shy ch. o |-es 23 wash — washes. teach — teaches. go — goes
mEDN (FEFE+y) VyEIEPZT -es study — studies. try(@#5)— tries. fly(F.5)— flies

-S. -es DHS

wREMVIET] k2] [p 7] [s ] helps. looks. walks. speaks
BEAN s Al [z X1 [f =] [tf #] [dz F] liz1 X1 | teaches. washes. watches. uses
B NOENO) [z X] plays. runs. comes

% gets W EOFER ts 1d(ts V1. reads ZEDFER ds 1 [dz V] EHET 5.
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(1)
(2
(
4
5
6
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U

000
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N

7 youand I t
it
you and your brother

N

< N

Ken’s sisters

N

your friends
he

A A A A

N

(N RDT ~F DEXDTHRERH

We want a TV.

You study math.

They don’t speak Japanese.
Tom and I use the computer.

S H O A

Jim likes my brother.

they 7 she *>06006
we 7 Kumi and Yuki

I 7 Tom

my mother 7 you

Ken and I 7 Emi’s teacher

we 7 you and Ken

AR - BETH3HD% 1 DRV, BEEOTHALIL,
®000

(3] (A% - 8 - THD) ROBFADIAR - 88 - REHEFEHEL, 006

play

[J(2) speak

teach

help

have

go

watch

eat

)

6) study
)
)

fly

want

(12 read

AN RO ( YALSBEERS. &

I ( play / plays ) volleyball.
Tom ( play / plays ) volleyball.

We ( have / has ) English books.

EREL, *>0060006

Kumi ( have / has ) English books.

Jim and Fred ( swim / swims ).

Mr. Ogawa ( swim / swims ).

My father ( speak / speaks ) Chinese.

Mr. and Mrs. Ogawa ( speak / speaks ) Chinese.

(-8, -es DEE) ROTEBOETD.

likes
looks

comes

[J(2) knows
[1(5) swims
[)(8) washes

[s X157, [z X]&54. lizA X5 EFEELIL,

200

[I(3) lives
[J(6) cleans
[1(9) teaches
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€ o |B|KIFEIFE oo =

m (8. -es DREB) ROEHOTREOEZFHFIALCESO%, BF>TVhIEXEBEL XL,

looks hel la
1>{ = D(z){ e D(z)[p =
comes walks runs
tch h k
4){Wa ches D(E,)[W;;ls es D(())[s.pea s
teaches goes lives

(2] GA%-#3-FE X0 ( VAOBEEET BHICHLT. EHCEER AL,

[1(1) She in the park. (run)

[(2) Tom apples. (like)

0(3) My father the car. (wash)
(J4) My mother up early. (get)
[1(5) Jane every morning. (walk)
[1(6) My brother a computer. (have)

8] A GBSV, ( VADETEREST [~ EH->TOET] EVIRLEBEL &L,
(B1) (I/two computers) — I have two computers.

[J(1) (Tom / three rackets )

[J(2) ( Kumi/ many books )

[1(3) ( We /some flowers )

[J@) ( My sister / some pencils )
[J(5) (Kenta/a new textbook )
[J6) ( Ms. Smith / a nice camera )

(SAMT - B - TIE) ROEXD( )ADEEELWHIKAZT, £XFH LI,
[1(1) My sister (use) this umbrella.

[J(2) Mr. White (speak) Japanese well.

[J(3) Jim (watch) baseball games.

[J(4) Ken (study) science.

[1(5) My brother (have) a red cap.

[J(6) Ms. Green (go) to the park.

[I(7) My father (like) natto.
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@ (BAFR - 83 - B ROBER T, EXHFERTEELDOIC. EFRICEREEFZ LI,

(1) My brother baseball in the park.
[J(2) Jane often her dog.

J(3) My sister very fast.

(0@) My father English at school.

@ (BAM - BHOX) XOAAXDERERT LT, ZHRICEREZEE LI,
O1) YLARIMEFSEHFETT,
Jim Japanese food.
(002 Bl EADEBOREHRVET,
Ken a lot of English songs.
(3) HommidEH SMoEZHATT .
My sister five books every month.
@) PLARSBEHICREBETZET,
Tom to the library on Friday.
O6) COFRTEIZETHEIRIET,
This plane very fast.
[I6) AFEILIZK SADREFVET
Kumi a lot of friends.
O(7) FORIEIEHREED T,
My father dinner.
[(8) #Xi3EH., BEIADFLREZLET,
Emi her mother every day.

(BAFF - B AOBFXICES L5 C( IHDE@E) 2EAPZT. ELLEIILEE L,
(1) i3/ X48opS8 %9, (his/he/dog/walks ).

Q) hoRRcoary¥a—r%2E0Ed,. (mother/uses/ my/computer / this ).

B3) 27V —r4%4E3HEELH LTI, (teaches/ Mr. Green/ English ).

[(J(4) AEIZ<w—H—%7- SAE->TVWET. (markers/has/Kumi/alotof).
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» iR/ R/R/RE =, =

1] %O&HOFRBOREHSTATRLL50%.29FALE5A%. FATEF > TONEX EBEL &L,

speaks teaches runs
0I(1) | works [1(2) | goes [1(3) { plays
sings comes swims
helps looks uses
[J(4)  likes [(5) { lives [l(6) { watches
walks washes makes

2] RO VHOFEEBTIHIHAT. BHRICEELEN, PAZBEOEVSDEINEEER &,

(1) We Mr. Takahashi. (like)

[J(2) Ms. Johnson the windows every morning. (open)
[J3) Ken and Yumi new food. (try)

[J4) My brother a new cell phone. (have)

[J(5) My mother English at high school. (teach)

3] ROEXOTHEME( VWOEE) CHAT. EXEBEP AL EL,
[J(1) I use this bike. (My brother)

0J(2) We enjoy this TV program. (Ken) * program i

[J(3) Kumi goes to school with Jane. (Kumi and Aki)

[14) You have a lot of friends. (Jane)

4] ROBAXOBERERT LS I, THRICEELBER L,
(1) FAIHERBICSRIV U2 LET,

I badminton after school.
02) BEHEINEBETAZHAET .

Ken and Yumi books in the library.
CI3) AEiZEH. HEL2MRLI T,

Kumi math every day.
(04) |idmsEn-LxIiciEEELET,

Ken his homework with his brother.
L6) OBIIHWTERIITEE T,

My brother to school.

CI6) #iZAxT%220ZFH>TNET,
He two cats.
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12 —HREHEAC( 3 AF - BBED
FOXDTEFRICADBEELER,ORD, BTIWRICHPATEZELIL,

Bob two balls in his hand.
Emily English very hard.

Jane the guitar every Sunday.
My brother videos after dinner.

[ watch / study / play / have |

ROEMOEXHFIFIFRCABTERT LIS, ZRICEEZTELE SV,

Mr. Nakano is a science teacher.
Mr. Nakano science.

Kenji is a good tennis player.

Kenji tennis well.

My mother is a good singer.
My mother well.

You and your sister like soccer.

You like soccer. Your sister soccer, too.

Tom’s eyes are blue.

Tom blue eyes.

ROBAXICES &SI VADE@E) EHENLPZ T, ELLERICLES L,

Bz oE2HEVWET, (this/Ken/ dictionary / uses ).

103

AORIHBHAICE.R%WEY, ( washes/my/ his car/ father / on Sunday ).

AERCOFBTESEMBLET, (in/Kumi/ English / studies / this room ).

RERIC S SADREHE >TWVWET, (has/his room/books/he/alotof/in).

FORBIZFELHEEE T, (up/mother/ early/ my/gets).

ROBEFXEEIZLEE L,
f& (Ken) 139 &5 X (sukiyaki) B¥FE T,

KEEH, BXE2ZEZET,

HEEHF LWL 2 —FE2FEoTWnET,

H (Tanaka) SA (M) EFEFEZFELE T,
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EEDISAM - 8% - BEOSEX | N

@ Ken does not[doesn’t] play soccer.

BEYvA—ZELFEA-

)

OTEX TFES 3N - B BEOTEE. —BBFADHNIC does not GEIEEIE doesn’t) # B .
BFEISFEE (S D) IC LT (EF+ does notldoesn’t] + BEDER ~.) TEF,
(EEX) Ken plays soccer. (BZHvH—%LEd.)
(BEX) Ken|does not|play soccer. (BiZ¥vh—%LEHA,)

EEN AR - 85 - JReEozEr |

® Does she play the piano?
—— Yes, she does. / No, she doesn’t.

REIFE7 S ZOEFRT O,
— L. UEFXT. /WA, UEFHA

ORRIY TEH 3 AW - B FREOERSL. EEOHNIC Does # B =, BEIIERICLT Does
+EFB+HFADOER ~7) TR, BE2OXTY does V2,
(EEX She plays the piano. (H&LEE7/ 20&E£7,)
(%ER332) [Does|she play the piano? (E&IIYT ) 20 &%)
(#27) Yes, she[does]./No, she [doesn’t/does not]].
(FV, O&FFET, /WX, OXEHAL)
—EY What & Tiss 250 | ~

(4]
5]
6]

I

—— She reads them in her room.
Who plays the guitar?
—— Ken does. / My brothers do.

®© What does he have? BIHTER > TVNETHY
—— He has some apples. — UYdEWVL DM E>TVET,
When does he play soccer? WEODOH Y H—ELETH,
— He plays it after school. — WFHEREICENELET,
Where does she read books? BRIGE T TAEFBEITH

— WLZBBEIDOBETENSEGHE T,
ENDF5—Z0EFTH,
— 8TY, /DR[EIBETY,

S

©OO®@What[When / Wherel ~ ? ®X What[When / Wherel # XHEICE %. (What[When /
Where] + does +EF+BHFEDRR ~?) T [dH [\ / ECTI~LETh] OBKEET,
CiD (50> DERX) Does he have any apples? (&) > T20<2pE->THETH,)
(What D EERTSC) does he have? (X% ->TLETH.)
ex) What ZHEFDHNICEL T, (What +87) TH®D2E [EAk~, AD~]| OBREET,
OWho ~?0X (Who +—EFH ~?) T [FhH~LETH] OBKEET,

(Who D%Ef132) Who plays the guitar? (ZFhHF5—20&E3h.)
ESA%'Eﬁthmﬁ

(BE27) Ken does. (##7T7d.) /My brothers do. (FADR[EB]7-5TT.)

L3 A9 - 880t does t21 2 A A Bt do TEL S
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¢ 2= Bt 58 el w8 *
1] @D AOEXEBEXCELPLDEE, BHRICHEREHEE S, =l
(1) Ken speaks French.

Ken French.
[(2) Mr. Harada teaches English.

Mr. Harada English.
[1(3) My sister walks to school.

My sister to school.
[14) Fred likes Japanese food.

Fred Japanese food.
@ R ROEXERBNICEXTHADEE, EHICEFREZEE LI, ®0
[(1(1) Jim lives in New York.

Jim in New York?
[1(2) Kumi has many books.
Kumi many books?
[(J(3) Tom watches TV every day.
TV every day?
(@) He uses this desk.
this desk?

@ GRS ROMBXHPEHRT DL DI, EHRICEFEZTE LSV, (2]
[)(1) A: Does Jim study Japanese?

B: Yes, he
[1(2) A: Does your mother speak English?

B: No, she
[1(3) A: Does your brother play the piano?

B: No,
[14) A: Does Ms. Harada want new shoes?

B: Yes,
@ (What 5& THREZHEY) ROEBEAXOEKRERT LS K. EHCEEsEXLIV., ®OOO0O

01) RTREAPFETT Do HEIFEPHFETT,

Bob like? — He music.
0@2) 2T 20EETH. Vr—VPOEET,

the piano? — Jane
03) HERZW ZOIAYE2—FZ2HENETH. KIBHTT

Yuri use this computer? —— On Tuesday.

(@) Hul-0OBRISAREZTH Y H—DFBZ LETH. ABETY,

your brother practice soccer? — In the park.
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= oo |B(AIE| o

1] @ED 20BRERT. MRIBEIE~LERA] EVIBXEBEL S,

play tennis

h p his mother

use this computer

(4)

eat Japanese food

L]

He

L
®

He

She

o

She

2] @EED XOBAXOBRERT LS. EHCHEEBE L,
00) YARBEABEZELE A,

Jim Japanese.
[2) RERIFEZHRAZEA

Emi newspapers.
OB) #iEa—b—HFETEH0 EA,

He coffee.

[B] G0 ROEXOFHBE( VADE @) IIHAT. ENEEBEHALEL,
(1) Do you watch TV every day? (he)

[1(2) Do they study science at home? (Ken)

[J(3) Do you use a pen or a pencil? (your brother)

[14) Do they have many friends? (she)

4] @D ROEXEEMTICL G &,
[J(1) Tom plays baseball every day.

[1(2) He has many English books.

[J(3) Kate knows the song.

(J4) Fred likes pizza.
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(5] @) AOHEXHFRRT B LI, ERCEREEEEEL,
[1(1) A: Does Ken clean his room every day?

B: No, he
2 A: your mother cook dinner every day?
B: Yes, she does.
[1(3) A: Does Kate like cats?
B: No, she
[J@4) A: Does your brother speak English or French?
B: He French.
[(s) A: Kumi like soccer or tennis?
B: She likes tennis.

@ CREEERVEREY) XOENE THRHEA-THh2REAXNCEENLADLE, EHICHREEEZL
Ty,
(1) Ken watches soccer games on TV every week.

Ken on TV every week?
[1(2) The girl has two English books in her hand.
the girl in her hand?
[03) Kumi has three birds.
birds Kumi ?

[1(4) Emi wants a new computer.

a new computer?

[1(5) My father washes this car every Sunday.
your father this car?

[J(6) She buys fruits at this shop.

she fruits?

[7] GamssmemLERD) ROBAXIEAS &3( JADEEEAPZT, ELLREXLLAEL,
() HIFEICAE2E->TWETH, (does/have/he/what) in his hand?
in his hand?

O0) ‘EEEHEHICEmZ LEd . (Ken/do/does/what) on Sundays?

on Sundays?

[0(3) KERIZEARZEIIFETTP, (music/ Taro/ does/ like / what )?

0@ ZhrzofBE2ENETH. (this/who/room/uses)?

[165) AZERWOEEZLETH,. (her/does/Kumi/homework/do/when)?

[6) Ha0BREAIEZTRERBNFEFTH. (lunch/does/where/your/eat/father)?
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= crF/R/E/EE . .

1] &0 )HOBEEBTIHEL AT, ZHRCEELIL, HLIVEOEVEDRIOEEH T &

(1) Your brother to bed very early. (go)

[J(2) Does your father to the park every day? (go)
[1(3) Ms. Harada doesn’t my brother’s name. (know)
[J(4) My father not clean his room. (do)

[1(s) Who this song? (like)

[J(6) What Kumi do after school? (do)

[1(7) Where your brother listen to music? (do)

2] ROEEOEXHEERLRBERT LS IC, EHICHEBEEZHEL,
: { Mr. Sano isn’t a math teacher.
Mr. Sano math.
) { Kumi doesn’t play soccer well.

Kumi a good soccer player.

@ ROMEXPERTHES . PRRICEELBX LA,
[J(1) A: Does your brother play video games?
B: Yes, he
[2) A does Emi use in the room?
B: She a computer.
[3) A: uses this bike?
B: Taro does.
[14) A sports does Bob play?
B: He soccer.
[J6) A: How flowers does she have in her hand?
B: She four.

ROBREXICH T 2EAELTRDBETIHDET~F 5B, BETELILREL,

[1(1) Does your sister study French at school?
[J(2) Does your sister study English or French at school?
a3

)
)
) Who plays the piano in this room?
) When does your sister study?

) How many tennis rackets does your sister have?
7 My sister does.

1 Yes, she does.

7 She studies English.

I She has five.

*

She studies before dinner.
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(5] x0EXE( IHOERICLAF > THEDP IR,
[J(1) She works at a zoo. ({/EIT)

[1(2) Jane likes Japanese food. (FEXIC)

[J3) Emily has many friends in Japan. (%ERIXIZ)

[J@) He plays soccer in the park. (THEEHAE X OHID & & B EEHIT)

[1(5) Miki sings this song very well. (T#EHAEZOHID &7 5 EEMIC)

[16) Jane likes music. (TFEREBOEZ OHIDE 7% B EERISIT)

[J(7) Tom has two brothers. (PR AEZ DD & 7 5 BERISCIC)

(6] ®PEFXAS>E3( VADE@E) £E~"PZ T ELLEICLES L,
O) »AE-OBRSARYT ) E20&EFTH, (piano/your/ does/ the / mother / play )?

Q) BEEMMFEXTTH. FREBEMPFETTH. (or/Ken/winter / does / summer / like )?

O3) AOBUEERICEATHWERA. (not/uncle/Tokyo/my/in/does/ live ).

(@) Hiaiz0BRSAGHEHICMEE2LETS. (does/do/what/on Sunday / your father )?

[0(5) AEWREALRGBIIFETTHL. (color/does/like/what/Kumi)?

[6) ZhpZOR%2ESETH. (reads/who/book/ this)?

(A7) KERIEFICAMOERERE > TRET D
( Taro / have / many / books / how / does ) in his hand?
in his hand?

ROEAXEFZEXICLEEL,
(1) ®B(Ken)lds7 v b2FE->-ThEHA,

02) #FEmiD)EAIAZTER>TVUETH.

O@) #Fidnwor¥Fy—z20&EXIT .
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1] xoRFXEETLEEL,
O() #ETF = AP FETT,

02) E#(Ken)dcoBHEEZFVE A,

OB) AE(Kumi)idEH. BFEE2WELETH,

O@) #HEFIA2FE>THETH,

C1(5) HZE(Yumi) 3 EA LTI X TT A,

WANIEFEDORPIFE TT

(16) EXEmi)iEcoara—y2FnEdh, o, Fnxd,

O7) BERREITHFLOLTI Y h2BE0nETH,

C1(8) 7Znaer ) 20EEdH,

AEBR(Taro) T9,

(I9) HRDHEREAIAPNOEEZE > TVETH,

(2] TOxE. B Ken) DREICOVT, $8oEELBVIEEEEDEEDTT, COEEDEIC.
HEDREVICELE &L,

(1)

BFNICZo->T, [BO--EZ~LET] EVHAEIEIOBEL I,

(1) Ken’s brother plays baseball.

[1(2)

FoZ IR B
5 X O O
% O X O
O X O
— %ORT 2 &
R X O X XIELAWI EERLTVLS

FICHE->T [BOd~LERA] LVWHELEIODBEZLI,

(f)

Ken’s brother doesn’t play tennis.




(@ o 5 BF R &8 e

(1] ROHEXEHAT. BEDMVTELEEL,

Mary: Do you like math?

Taro: No, I don’t. But my brother Ken likes ®E

Mary: Oh, you have a brother.

Taro: Yes. Ken is a high school student. Ken and I go to
5 @@ usually ®(study) math *there.

Mary: What books do you read in the library?

Taro: 1 always read comic books.

(&) there #2°T

(1) MEHEOOSTHOEEFIFTEZI LI, ®

the library every Sunday.

02) @n( YHNOEZET HFEIZLES W,
(1(3) RORBWICEETEZ LS\,
1. Does Taro like math?

2. Does Taro have any brothers?

3. What books does Taro read in the library?

2] ROEXEHAT. BEOMVICELEEL,
Keiko is a junior high school student. She lives in Tokyo

to the *stadium and watches a soccer game every Saturday.

Her father works for a *bank. Her mother is a teacher.

. She is a soccer fan. She goes

She teaches English at Asahi

High School. They like baseball. They sometimes go to Tokyo Dome and watch a baseball

5 game on Sunday.

She has a brother. He is a college student. He is a member of the tennis club. He

sometimes plays tennis with Keiko. He plays tennis well, but Keiko doesn’t.

() stadium #EH  bank BT

(1) FMONEZ. BHEM-TEEPASLE, FRCHEHFBEZEER I,

... Keiko doesn’t

(02) ROBE(HFNICEINGET ~IDN LRV, LFTEAR IV,

O HEFEOHFM @ ™HhEE

7 Keiko 14 Keiko’s father 7 Keiko’s mother

B3) AXOAFIZE > TWRIEO, B> TRRIEXZEZE SN,
1. Keiko likes soccer.
2. Keiko’s parents are baseball fans.
3. Keiko and her brother don’t play tennis.

® KRE£
I Keiko’s brother
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S TESDERE o =p.99
B °
mmwm v @7 G 7 @41
5) 7 (6) 7
2] +
[3] (1) plays (2) speaks (3) teaches
(4) helps (5) has (6) studies
(7) goes (8) watches (9) eats
10 flies () wants (2 reads
@] (1) play (2) plays (3) have
(4) has (5 swim  (6) swims
(7) speaks  (8) speak
Blwm 7 @4 @414 @7
Gy 4 6 14 O 14 @ 2
9
© o

2] 7iE 1 AFR - BB 11E2 AFf. 71E3 A
Fho- 8. TiX 1 AR - L. 12O FTIE
BEAEEP IO 50,

=p.100~p.101

S EARED

X (2)
X (6)
runs (2) likes  (3) washes
gets (5) walks (6) has
Tom has three rackets.

O B O @O
X

o N =Y

Kumi has many books.

We have some flowers.

My sister has some pencils.
Kenta has a new textbook.
Ms. Smith has a nice camera.
My sister uses this umbrella.
Mr. White speaks Japanese well.
Jim watches baseball games.
Ken studies science.

My brother has a red cap.

(6) Ms. Green goes to the park.

(7) My father likes natto.
[5] (1) plays[practices]  (2) walks
(3) runs (4) teaches
[6] (1) likes (2) sings (3) reads
4) goes (5) flies (6) has
(7) cooks  (8) helps
(1) He walks his dog.
(2) My mother uses this computer.
(3) Mr. Green teaches English.
(4) Kumi has a lot of markers.
® °
M@ sl&lzl @ 1 ) 2]

4) izl (3) liz]l &1z] (6) I[s]&lzl

3] (1) [ROREEIFABRTERE LETBELET]
Q) [Yz—riELELIEA X 2B sEET ]
(3) TRk IEE THESEDET]

@) [RADRIEEMTHELHATT ]

6] (5 iy’ Dy #i1ICAMRT -es 2D 5o
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® °
Mma @a 60 @O

5) x (6 &
[2] (1) like (2) opens (3)try

(4) has  (5) teaches
(3] (1) My brother uses this bike.

Ken enjoys this TV program.

Kumi and Aki go to school with Jane.
Jane has a lot of friends.

play (2) read (3) studies
does (5) walks (6) has

has  (2) studies (3) plays
watches

—~ e~

—_— N
— =

e e e
G S

teaches  (2) plays (3) sings
likes (5 has

Ken uses this dictionary.

N o [ [®

DN =

My father washes his car on Sunday.

w

Kumi studies English in this room.

EN

—_ D D L D D

He has a lot of books in his room.
My mother gets up early.

—

Ken likes sukiyaki.

P e e B
93]

N

He listens to music every day.

w

She has a new computer.

Ms. Tanaka speaks Chinese.
® o
] (1) [sl&lsl&lz)
(2) lizl&lzl&lz1 (3)
@ FxTls] (5
6) [iz] & liz] & [s]
(4] (5) HBWT2EAIT<] & walk to school T
T EFEN3AW - B¥A DT, walks 129 5,
5] (1) [RTRFICA-LZ2EF->TVET
2) [TZIV—-RETH—EBEHICHEL»WRLE
ER
B) [Yz—YidEAEBAEY—%20EF7 ]
@) THoR[HIEIBBIHELRET]
6] 5) TFADEREW] - [FARBFVLEAH-
TVWEFT[FAGEFVEZLTOET]]

B =

TR [z]
[s]&[z] & [iz]

13 —BERGA - B OB Y ©

=p.105
o

D TEETRIRE

®
(1] (1) does. not. speak
2) does. not. teach
3) doesn’t. walk

) doesn’t. like

) Does. live

) Does. have

3) Does. Tom. watch

(
(
(

Does. he. use
does  (2)
he. doesn’t (4)

)

) does. not
)

) What. does. likes
)

)

)

she. does

Who. plays. does
When. does
Where. does
e °
[1] 3)4) does not DM doesn’t % FH 1
Do
(2] EFEAF3AN - BBORETIE. EB0WIIIC
Does ZE<. BFAZKEICTHZ b ENZ WL
DICFERT 5,
[4] (2) [Enn~LETh] &0 & & (Who +
—MRBIF ~ ?) TERI . Who 1d 3 AFF - Bi¥e L
Thbh, HEIHELEBFIC -(e)s DT 3,




o LR RE o =p.106~p.107
) ®
(1] (1) does notldoesn’t] play tennis
(2) does notldoesn’t] help his mother
(3) does notldoesn’t] use this computer
(4) does notldoesn’t] eat Japanese food
[2] (1) doesn’t. speak  (2) doesn’t. read
(3) doesn’t. like
[3] (1) Does he watch TV every day?
(2) Does Ken study science at home?
(3) Does your brother use a pen or a pencil?
(4) Does she have many friends?
[4) (1) Does Tom play baseball every day?
(2) Does he have many English books?
(3) Does Kate know the song?
(4) Does Fred like pizza?
5] (1) doesn't (2) Does (3) doesn’t
(4) speaks (5) Does
[6] (1) What. does. watch
(2) What. does. have
(3) How. many. does. have
(4) Who. wants  (5) When. does. wash
(6) Where. does. buy
(1) What does he have
(2) What does Ken do
(3) What music does Taro like?
(4) Who uses this room?
(5 When does Kumi do her homework?
(6) Where does your father eat lunch?
2 °

6 (1) MEEmRETLCTYHyh—0RE%
BEY] - [BEEETLETHZRET Y]

(2)

[ZDODIIEFICEEDOAZ 2MFE>TET ]

— [2O2LZRFICAZ2HE->TVETH

(3)

[AEREZ3AF->TV0ET] —~ [ARIEH

ZAPF > TNET A

)

BT LIV 21— ZIELI>TVE

T - [Fhdilnara—y2ELA-T
WE g2

(5)

FhORXVNIEAABHICCOELREVWET] —

[(HHT-OBREAIZVDOZDEZHREVET ]

(6)

[ COETREY2ZEVWET] — [HRIZ

CITRMEENET Y]

oo FEERITE p.108~p.109
e )

[

1) goes (2) go (3) know
) does (5) likes (6) does
(7) does
) doesn’t. teach

(

(2) isn’t

(1) does (2) What., uses

(3) Who (4) What. plays

(5) many. has

m 1 @2 B 7 @ F

(5) T

(1) She does not[doesn’t] work at a zoo.

(2) Jane does notldoesn’t] like Japanese
food.

(3) Does Emily have many friends in Japan?

(4) Where does he play soccer?

(5)  Who sings this song very well?

(6) What does Jane like?

(7} How many brothers does Tom have?
) Does your mother play the piano?
) Does Ken like summer or winter?
) My uncle does not live in Tokyo.
) What does your father do on Sunday?
) What color does Kumi like?
) Who reads this book?
) How many books does Taro have

) Ken does not{doesn’t] have a racket.

) Does Emi have a camera?

) When does he play the guitar?

® )

(O] (1) FEAS3AWH- B -BEOEE. B

I -(e)s 20T 5%,

[4] Who. When. How many % E&FE &AW
BERIICN T 2B 2 DOIE, yes ¥ no TREZL,
BRMICEZL 5. /oy or EHV-RERX S yes
2 no TIEEZ W,

[5] FEA 3 AN - BT, BEELEBEXPEMX
KT B EE, BRAZERICTACLEENZVED
WCEET 5.




o3 TI{EST o #0110 ofo SRR TE o =p.111
® e o °
(1] (1) He likes tennis. (1] (1) ® math @ Ken
(2) Ken does not[doesn’t] use this bike. (2) studies
(3) Does Kumi study math every day? (3) 1. No, he doesn’t[does not].
(4) What does he have in his hand? 2. Yes, he does.
(5) What song(s) does Yumi like? 3. He reads comic books.
— She likes English songs. (2] (1) play. tennis. well
(6) Does Emi use this computer? 2oy @7 O zx
— Yes, she does. 3 1. O 2. O 3. %
7) Where does she buy a new racket? L e
(0 3) 1. [REBEBEFAEEETT ]

How many birds does your sister have?
- (Bl) Ken’s sister[brother / mother]
plays the piano.
- (#1) Ken’s mother([sister] plays
tennis.
- (f1) Ken’s father plays baseball.
(2) - (#l) Ken's sister[mother] doesn’t
play baseball.
- (f1)  Ken’s father doesn’t play tennis.
- (1) Ken’s father doesn’t play the
piano.
® °
(1] (XsX7)8X9) EERIEAZAMICT 5h % % 31k
5o [l%~] 1% What, [EA7%R~] 1Z(What
+45). [E2T~] & Where. [FhH~] 1
Who. ##7:91%3i3 How many 25,
[2] TE7 ./ #0<] & play the piano TEF . the
EENZVWEDICERT %,

)
) Who plays the piano? —— Taro does.
)
)

2. [KRERICIZBA VWET A
3. [KEBIREBHECEAREKEZEAETH]
EED A7V Hu3BESTFETT L,
KER: W2, IFETRDVERA. TH. RO
FHEPTFETT,
ATV = ANZ, BREICEBRIADPVEDTT
AN
REB: . BEBRETT., BEIFIIEBEHRE
HICREHEICITEE T, R0 TWHF I o
R LUET,
ATV = BLRIEREBETEARKEZFHE AT T H.
KER: 1F< IRV OB EANEFTEAT T,
2] B) 1. [BEF@Yvh—sFscd]
2. [BEFOWBEIFRO7 7 T
3. [BFEHLDORIZTFZRAELEHA]
ED ETFEPEETT, BLEIERICEATVET,
BRIy Hh—D7 70T, HBLl3ER+TEHIC
BEZIIT->T Yy h—0REE2 R T,
BWEDORXFIIBITFTHOTWE T, HroREIE
BEITY, HRIPHERTEELZHITVLET,
WS XFRPFETT, HH 3L ELEHEHICH
HIE=LIZf7>T, BROASGZRET,
WRITERSVE T, HRITKRZETT, HlEF=
AEDEETT. KT EELFXEFETFoAR2LE
To HETZANCEITTIH, BEFEL ST
TEHDERA,



14| HRY - BIEY °
S TESDRARE =p.113
@ °
(1] (1) Come (2) Close (3) Be

(4) Be
[2] (1) Please. come (2) Please. help

(3) Please. write  (4) Please. look
[38] (1) Don’t. walk (2) Don’t. sit

(3) Don’t. use
4] (1) Let’s. sing (2) Let’s. eat

(3) Let’s\ cook
(5] (1) How (20 How (3) What

(4) What
® S
@B 1 (1)2) &aXEHADRETILIED 5.

(3X4) be BFADFIEIX beo

5] (1X2) & &ICHEFAIHFNTLSDT How.

3)4) HEIWERA+BFA)PHELNTVEDT
Whato

SEARES

=p.114~p.115
e

@

al (1) Go
(4
6
9
1

(2) Study (3 Be
Please. close  (5) Please. use

)

)

) Sit. please (7) open (8) clean
)

)

wash
Bt (b)) IBHEEZWRLET. /8
HIEEEMELE S0,
(2) FARZZTFLERRET. /bA 22
TFULEZRZE L,
(3) BwhICLEEV, /(ED
S,
Don’t run in the classroom.

(
(

BYgEPIZLTLE
3] @
(2
(3
(4) Don’t play baseball here, please.
(1) Don’t. write  (2) Don’t. stand
(3) Don’t. watch  (4) Don’t. be

(1) Let’s play basketball.
(2

(3
4
1
1
4

(8] (1

Don’t swim here.
Please don’t use this bike.

)
)
)
)

)

)

) Let’s go to the library.

) Let’s study math after school.
) Let’s watch TV after dinner.

) let’s

) What
)

)

right (2) Yes (3)
How  (2)
What

Use this eraser.

NI o]

(
( How (3)
(

(2) Don’t play soccer in the park.
(3) Let’s play baseball after school.

(4) What a nice present!
© o

B BEO&S L. (Don't +EFADKEE
~ YOIZT %o
[6] (1) Let's ~. DX LTEEMICELD L&,
Yes, let’s. BIAHC All right. / OK. [H2 D EL
72l mEEESLBTES,
@) (What + a +FEAF+&FA DB

S FEEE S

BIEICT B,

*p.116~p.117

e
1] practice  (2) Practice (3)
use (5) has  (6)
don’t (8) doesn’t (9) What

)
)
)
y 7@ v B 1 @A
)
)
)

uses
have

[ V]

Get up early every morning.
Don’t visit your uncle today.
Please play the guitar for us.[Play the
guitar for us, please.]
(4) Ken, sing the English song. [Sing the
English song, Ken.]
) Let’s take some pictures in the park.
) Be quiet in the library.
) go. All  (2) Don’t. play
) Sit. please  (4) Let’s. go. sorry
) What. an
) Don’t (2) right (3) let’s
) Please write your name here.
)

(0] [@]

Tom, don’t open the window.[Don’t
open the window, Tom.]
(3) Let’s watch the game on TV.
(4
(1

)
) Don’t use your dictionary.
) Read this book.
(2) Please stand up.[Stand up, please.]
(3) How hot!

° °
) (1] (DBXSX8IZ5EDIDK T, RMAXDIEETL.
( )Li Let’s ~ . O3, (NFRREL,
2] 1) TES32RF7RBFTLLESY]

FUE] A4 TES0nLELT]
H5HFNET
6] (1) (€27 BB OBMEBNTILES
W]
(2) [hL, BEBETZWVWT
B) [FLETZORAEZRELELD]
@) [dki-l-b0OFERE->TIVITELEAL

7 [hHhb
BN RRIAY 4N



QP THENY <3 =$p.118

o TR =»p.119

° )
(1] (1) Please use this umbrella.[Use this
umbrella, please.]

) How cold!

3) Finish your homework.

) Don’t play the violin in this room.
) Let’s watch TV after dinner.

— No, let’s not.

6) Let’s cook[make] lunch. — Yes, let’s.

7) What a kind boy!

) Kumi, be quiet.[Be quiet, Kumi.]

) (#1) Wash your hands.

) (f1) Don’t swim here.

) (#1) Please play the guitar.[Play the

guitar, please.]

(f1) Don’t play soccer in this park.

(fl) Be quiet, please.[Please be quiet.]

(B Yes, let’s.

(f1) T'm sorry. I'm busy.

© °

(] (5) [4&#%] iF after dinner TET,

(8) be BFEOMHAIE be 25,

2] @EHIOBARERIILUTOED

(1) TFEHEVES ]
2 TcZTHOVTIRVWITERA]

(8] (4) THFERIFITITZS] 1 Let’s go to the
stadium. TRT, let’'s DXIZiX let’'s #HWVT
ZEZX %, BEALTWA0OTAI right. ® OK. ¢
SR

5) FOEWSEEFFZET I'm sorry. EHPE -
THASERBZDOITMES &L,

(2

1) (F) [Wo<K VEZLTH LD 0] &4

ENE-T &,

(2) NYN—H—JE

(3) Yes

@ 1. x 2. O
@ L ]
O] 2) MEEPTAERETE 2T E N

EESTVWAHIZENS, INERIFEbD S,
M BIRESITEVET, AnSA,

EfElb: BizLoITE0nET., ML,

MEE: T BOHE L&D, BRED 20—
ZHELZ IV, BFEIVWLTT N,

LB T,

A BFRLTHEEZ S, [RIEFRIFE T
To I Y N—DHFETRDIVIHA] &
WICDOWVWTREDIEL RS0,

EfE7S: [IEFRPFETT. MITy H—nt
WFETIIHDEEAL]

MEE: REZFETE TP E W,

RS [REERIMFETT, BIET v h—7
WETIEZHDETAL]

L ETBVNTT &,

2] @) 1. [AZORBIZVOBW - DBEEL S
EN|
2. [(AEREAEORBEBRPPTVTVLET
AEDRB: AFE. ¥— bR P EFED S 1,

AZE: bhr o,

AFEORB: BTV WAL, HELES,

AFE: BREA. HIEVO2BAY—-F2HLE
TlEE W< VEHELTE X D70,

AEORB: HdH. bh o7,

AZE RTo HNRBNUN—H—JEFR, 21247
DT NIN=H—%EBD. MIBERIABTW
A

ARDRBL: #5 L&D, Wb T T BELIrATV
=&,

L]
O (1) ERBO 20 R—TEEEE I,
(2]




716 3= 5ER

SERORES (SRORHEHEROBES) |
bl IR

RONDOUFIZHBEERAT D LR U0 2 FEAE S, T/, FRABKY U 2EE.
N &
BROBE V0, FRXOBERDL - Eh, HFEALR L0,
R \

—2. =1, 00HRP5, FRX 20-5=2—6DETHILDEEZ % S\,

E532) 2 1. 0% 2h2Nn2 CRALT. SXAK0 woh eI 2efig,

x DA pistl) 1l EDFRLY,
-2 | 2x(=2)-5=-9 —2—6=—8 (fl)=(HB) &> TV B DI,
~1 | 2x(=1)-5=—7 —1-6=—7 r2=—1Dr X Ths,
0 | 2x 0 —5=-5 0—6=—6 B -1

\ /

EEEl1) 0. 1. 2. 309 b, HHERX 3+ 1=52—-3DETH S HDEE % 3\,
L]

FXOIEE

SXOMBIFA LR EZMA T, EX1TR D 10, A=B%5lX, A+C=B+C
ZXOMAY SFH UHPLRZONWTH, EXIWYio, A=B %513, A—C=B-C

FROWLICE LEZ2 T TH, HRIIK Y 7o, A=B7%5i¥, AC=BC
SEXROTDER LM ThoTh. ER AR 7o, A=B %5, %zg(cw)
(B %XOTDEANSZ T, & IR Y 7o, A=B%nbid.  B=A)
Bl E R .
HEXNOUMEEH - T, ROFEREFMX 2 50,
(1) x+3=5 (2) —8xr=232

E20) “AOMEERALT, Eldz 205 (2 =-0FI%5) £5124 55 5.
(1) FXOWHERIL Y, WlH53%20<, (2) %XoNELLY, Wilst —8 Thb,

r+3=5 —8x =132
—g—5_ —8x _ 32
r+3-3=5-3 =g
%= =2 r=—4 B r=—14

.

EEE2) SRXOUREME- T ROFEREZWE R 2V,

%[J1) z—5=2 [J2) z+6=14 [3) 4+z=9
C4) 7 =21 %[1(5) —5x = 20 C6) —6x=—12
*[J7) —z=8 %[1(8) 6x=3 [9) 10=2x
«00) £ =6 Cay —%x=4 % (712 %xz—lz



EXO—FOBIZH HHEIE. FOHEOFFEEZ TG DBIZBT

TENTEL, :@:k%f?fﬁa&w’)o

77

FREAOBES (FXOHEEHENOEET)

B wrhrdbnid, MEETI L Iv,
(ZE3B)=2%x(—6)—15=—27

L

il 28 K
KOTTERZME T S o
(1) 3r+4=10 (2) 2x—16=4x—3

T 5% 5 SEIFADIC, BOEFERICBET %,

(1) 3z+4=10 (2) 2x—15=4z—3

) +4EBE ) ~15 & 4z 2 BA
Sx=10—-4 20—4xr=—3+15

) w2 — ) wmy s
3r=6 —or=12

) W% 3 ThA ) minE —2Ths
=2 r=—6

r=2 & 2=-6

7ok 2E, (2T
(BW)=4x(—6)—3=—27

GEE3) koFREXEME RSV,

*[(1) 4x—3=9 2) 2—8zx=17
*[(3) 3r=5x+6 (J4) 6xr=T7x—3
*[5) x+l2=4x [16) 8xr—10=3x
*[ 7)) 2x—5=3z+1 [18) 4x+1=7x—8
*[19) 3—x=bxr+27 [0 br—3=15+4x

BhSZ 5NnrhiEl
A5z SRR TR, BEFERICRAL, FTEREBRSNLXFLOWTOTRREALLT,
ZOHBERERFE L,

TV TOHRN 2x—1=5x+4a DN —3 DL &, a DEZRD L S,

50 =3280 CRAL, RALZKE g lZo0TOHERE A% LTE
ax(—8)—1=5X(—3)+4g <~ zr=—3%LAT2

—7=—15+4a «alZOVTONEREHZS
—dg=—15+7 <« —Tt4a®BETH
—4g=—38 FoT, a=2 B a=2

\

GEE4) koBWIZBEL RSV,
1) zlizowToOFRR dr+a=T-22x DN 2DL E, a DEZRDZ IV,

*[2) 22V TOHERXSr—10=6x—3a DIEN —1 DL X, a DEZRDZ%E I\



78 =3= 5=t

- BExmE
(1] HIERER KOBVIZEL RSV,

#¥(1) —2, =1, 0. 1. 20H25, ROFEROBTHEDDERUE S,
0O 4r—5=9zx O® 3xr—4=6—2x

LI2) ROFEXDIH, BA3THHLDETRTREY, LETEI LRIV,
7 2xr—9=zx 14 xz—1=38z—7 "y b—4xr=2zr+1 I 3r—1)=2z

(2] (=ROBE) TO@. QOEBR. b{AOEROWED LN E Mol b Db FETELL S,

O -
br—5=—23 ]® A=BibiE, A+C=B+C
br—5+5=—23+5 A=B%bi¥, A—-C=B—C
6r=—18 ]@) A=B#b5id. AC=BC
6r _ —18 _ . A _ B
r=—3

(3] (EROMBEEE S HEROBEEHD) SROUAEM-T, ROFEREME & 50,
*[ 1) z—6=4 [X2) x+7=2 [13) z+5=5

*[14) 24+x=5 LX5) 3+x=—6 *[)6) —4+x=38

4] (SRoUEEE>EHEROBERO) KOFERLEE L0,

*[)1) 5x=10 ¥[1(2) 6xr=—42 [I3) —4xr=-—16

*[J4) 36=—9x [(I(s) 24=28x (I6) —b54=—3x

*[7) —x=10 (18 —x=—4 *[19) —Tx=0
@) 10xr=2 *[1) 8r=—6 (112 —6x=-9

(5] EROMEEESRHEXORESD) KOFEREME % S0,

*01) =2 [X2) 5-=-5 (8) —§ =7

% [17) %x -9 C8) —%x ——10 % [(9)



11 FEROBEH (EXOME L HEXNOBRET)
(6] BEEFESAEROMESD) KOFBREME & S,

*[)1) 7x—2=12 CI(2) 3—x=6
*[(3) 10=3zx+1 [J4) §5=17—6x
*[)5) 2xr=6x+8 [)6) 9xr=4r+20
*[[7) 9x+16=x [K8) 7x—16=3x
*[9) 6—3zr=23z (a0 15+2x = bx

BEEES LHERNOBESD) KOFRREME % S0,

*[1(1) bxr+4=T7r—8 [2) 3x+7=x—5
*¥[13) 3x—9=7—=x [14) 6x+11=3x—4
*[15) x—4=5+2x [X6) 5a—1=35+a
*[7) 4—5y=19—2y ()8) 4—T7r=8—3x
*[](9) 6—5x=3x+6 [J00) 7x—6=2+3x
(1) 3—4r=2x+9 (12 m—1=7—m
*[13) —6a+5=8-"7a (104 4y—5=23y—11

(BEEESLHERNOBESQ®) KOHRREME L 50,

*[ (1) 8x—10=4 [)(2) bxr—6=14xr

*[)3) 2x—5=7r—2 [(04) 3r—1=x+10
#[)5) 7xr+3=3xr+5b LX6) 9x+2=3x—1
*[X7) 1-7x=52—38 Ck8) 16+8r=1—x

Q] @hsASNIEAER) KOMVICEL%E W,
(1) HERSr—4=Tz+] |o@Es10ts, [ |CHhTRIABEROZE W,

%[J2) 22OV TOFBRStar=4r—3 DR 2D L E, c DEZRD L SV,

79



80 =3= »E

1] koFBREBE %S0,

*[ (1)

*[1(3)

*[(5)

[2] kOAEREME % S,

* [ (1)

*[3)

*[1(5)

*[[7)

*[19)

*[]11)

* 103

* [ 15)

(3] korktEman 3w,
0.52+0.4=0.3z—0.2

*[ 1)

*[](3)

(4] kOB T2 % S,

—12x=—36

8x=—20

Y R I
5

2x—4=10
4dr—8=T7r+1
8x+11=3x—4
r—2="T7r+9

156+7x=—5x+9

20x—30 = 40x+90

2x—b=4+bxr—3

S3r—5+4xr=x+1

5 _,_1
Fx—l— 2.1'

(TR

(REAS)

(h#E)

£1(2)

[(4)

Li(6)

L2

[0

[Js)

3z+5=z+9 (a3

Srx—7=2x+5 (tBR)

2x+12=7-3x (B

4a—T7=12a+3

5—6x =4x—20

300x+1100 = 600x—400

9+8z—27 = 18—4x

Sr—2=6x+3—2x

0.6xz+2=x—0.8
3 51
4 8 2

(1) z=40HBR8r—20=ar+6DEL LB L % a DEERDE IV,

¥[)2) zIZoVWTOFEBRb6—ar=14+a+6x DR x=—3DL X, ¢ DEZRDR IV,



12 siERoB=AWLWBALAEAEER) 81

[ FEXORES (LB B15ER) ]

PLEAFBROHEES O »olddbEho>Z2ETT,
@ XFEALLGHEHZEDIS, BOHZABIIBET 5,
® WMBZEHLT. ax=5bDFITT 5%,
® W% DR aThb,

PREELTCEHETLZIEIICED, IR =0DRICERTEX S HERE 1 ARV,
I 78 K
ROFBRREME 2 S0,

(1) 4(x—8)=5xr—38 (2) 3x—2(5x+4)=6

TS0 »--+u3¥L. BELT, ax=00%E2 %,
(1) 4(x—3)=5xr—38

(2) 3r—2(5x+4)=6

) o S EEET ) Bo 2 EEFT
4r—12=5x—8 3r—10xr—8 =06
) BET S ) BB
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8x—4+3x+9=—6

(9) THBIZ 6 22T T, 3{z—4)—2(2x—1)=—6
3r—12—4r+2=—6

10 T 12 #F T, 38z —1)—4(x+2) =24
9r—3—4xr—8 =24

3 1 1

4] (1) AX ~x><—2—’-2x—3
dwms 7 x4
(2) 5><6—10><15 5 3

(3) 3rx3=28(x+2) — 9xr=8r+16

(4) zx1=(2x—5)x3—+x=6x—15

B] 1) z=—7%FBRRRALT,
—98+1=3(—7+a) > —27=—21+3a
—+—3a=6—a=—2

(2) z=2%FERXUARALT,

2+42a

== 6—a — 2+2a=230—5a

—T7¢g=28—+a=4
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miRE12 97
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sE1 (1) »APFrLTHE, dx—6=Tx
—-r=—2

(2) 6x—10=38x+14 £h, z=38
B2 AwiiyniF—Txkzem &b BWniE)
D5 —TiF (x+8)cm L Db,
z+(z+8)=120 > r =156
RiRE3 Mo fEERET s HET 5,
WAL (2700—x) [9. HOFEAE (1500—2) Mo
9700—z = 3(1500—x) = = = 900
R4 WiARIC s MBI 5. HIFEDE
ORI (48 —x) ¥, HROMEIE 12+2) L D
A8—x=2(124+x) = x=38
BEES AarAx B /2ETHE,
1000—70x = 160 — x =12
Ee r—FroMBoETE, Y- U—
2T B—r)WE -7 2l bb,
240x+180(8—x) = 1620 = x =3
Ya—7 Y —2Ahi. 8—3=5(f#)
587 Ya—AR%krABolkTh, HoltBk
DAL (x+3) RIZL D6,
50(z+3)+120x = 1000 = £ =5
RIEES 4O ANEEx AN LT, LEHROKER 2
B ORTET,
LA 5 TR S & 30 A B h 5. 5x+30(H0)
LA ST D/ S & 6 KR v b, 8r—6(H)
Y oT, 5z+30=8x—6—+x=12
S DML, 5X12+30 =90 (0
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